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The second house has insulation that is twice as thick and made
with a material that has half the thermal conductivity. To maintain
the same inside temperature, the amount of fuel needed to be
burned by the furnace in the second house is:

A) The same B) 1/2 as much C) 1/4 as much
D) 1/8 as much E) 1/16 as much



Q1 - The pace of the course is:

Way too slow

Too slow

Too fast

Way too fast

Q2 - The homework is:

Way too easy

Too easy

Too hard

Way too hard
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The second house has insulation that is twice as thick and made
with a material that has half the thermal conductivity. To maintain
the same inside temperature, the amount of fuel needed to be
burned by the furnace in the second house is:

A) The same B) 1/2 as much C) 1/4 as much
D) 1/8 as much E) 1/16 as much
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The second house has insulation that is twice as Loall$
with a material that has half the thermal conductivity. To maintain
the same inside temperature, the amount of fuel needed to be
burned by the furnace in the second houseis: L s 4ouble

" (S L\a\‘(

A) The same B) 1/2 as much CC) 1/4 as much”
|

D) 1/8 as much E) 1/16 as much . Hos =

L‘



THEKMAL ?ES\S‘[ANCE: wmeasuves c‘§-(ec4'.vemess
o'e }V\Su\o\‘hovx |aye\r

4—5’ e buickness

-+ -p R L

T T - —k kevM'\\ oo
k K ’\ Con u(\'(\lt-\y

”@-Va\ucﬂ X< /\'L\'\S 10\an‘\'\“y " Mn\+$ OF
* © lhours
Lavser s beter




Ta [R [T H_L-T

> A R
/‘ IK-\\nerw\a\ l:
¢

l’; i*;\;‘:‘:“_‘ vesistance
¢

AV\“\°3Y with e\ecjrriu\ resistance+ Obm's Law:

I VaRY

WW—Y T =

K. 2 .t
cavveat e ledrical

vesis Yaunce



R values add for muHiple "\Y¢rs

How Yo shew Aluis:

H
T, T, = 7k..re,_

TL-T.=H-R\

Add Whese:
T5-T,= 1 (QHZB
T A\

et
h«bif "“—'A \f\’\s STunc e

)\_@\:umce Ccr NA’(



OJ(\ACr VV\QCU\V\\$M,S -Qo( l’\ea\'\' “‘\Iahs-ge(._

"'"’“ \\ 11/
> ‘ 4 AN /
J =

A ! ™
& /) ETIR

ConvecTioN :heat RADIATION: a |l objecls

'\'V‘AV\SFQW Via macroswpic. we e ect row\agne'li(
motion of Fluids radiation (liget, TR ete.)
- \/er/ (‘pw\rilcﬂ_"QA ‘Hh]cl - ’\'L\;S Cavries emevsy

a\>/maw\'.c5 "’o ude!S"}ahﬂ\ O\WGY ‘F(ow\ ‘“«Q Obbec'l'



E LecTRoMmAacneTI I RADIATION:
L\ﬂ\ﬁ\ \S an elec"}(ow\o‘gv\e‘kc wave "

Oscillating electric field

E Oscillating magnetic field

James Clerk Maxwell 1864



Properties of Light

Colour: determined by wavelength

Intensity/brightness: determined by amplitude

L> l‘\g\zﬁ carries ehe\fﬂy.'
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?M( ce v The spectrum for a certain lightbulb is shown. The
wave "'QL total power of the bulb is closest to
(\,J/v\w\

A) 0.1IW  B)1W C) 10W
D) 100W  E) 1000W
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